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3. th& 293 2ol 2ABC o WHsh: 919 WSl o] x &
Arkg17?

@ lem @ 2cm @3cm @ 4cm ® 5cm

x=CE=CFOolEE2BD=BF=9-x,AD=AE=12-x
mbA (9 - x) + (12— x) = 15 ©]|EZ x = 3(cm) ©]th.




oh2 183 2ol AABC oA A O &= WAlolth A9 vk Fol
3cm ©]a1, AABC 9] Yo]7F 36cm? & w, AABC 9] 59| Zol&
orofzt
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® 9cm @ 12ecm @ 18cm @ 2lcm <§§)24cn1

A2t MlRe] dol & Z}2t g, b, ¢ 2 SHH
AABC = AOBC + AOAC + AOAB

1 1 1
:—X3><a+§><3><b+§><3><c

:§x3><(a+b—|—c)=36
et AABC 9] 9] 4ol 24cm
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ol et

Hoa

BC:FG=8:10=4:590|2&
OABCDSIOEFGH 9 §2H|= 4. 5 o]t}
whabA] Zh o3 O] Zolo] HIk 4 : 5 7} Hrt,

EF = Za o] gt}

AB:EF =4:5=a:EF 0|1, 4x EF = 5a 7} ®r}. wahA
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@ /x=100° y= -cm

® /x=110° y= —cm

=W | ocoWwl| co
—

® £x=110°% y = —-cm

10
@ /x=100°, Y=g

10
@Zx:lloo, y= gcm

B

/x=180°-70°=110°
6:9=y:5

10
9y:30, yzgcm
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“75ent DT ~10em- "

14cm

B ~

75:10=6:8°]22 FD // AC
8:6=10:75°]22 AB // ED

— 6
ED = 14 x < = 8(cm)
IRV IR

~FD+ED = 6 + 8 = 14(cm)
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4:y=1:20]BF y=_goJt},
x:15=1:30°]22 x =5 o|t}.
w2hA] x 4y = 13 °]t},




oS P ZHe GeArHE ABCD oA CE: ED = 3:2 7} 5 =&
HAEEZAN, AF:FD=4:30°] 5|2 A F & 29t} AAED 9
Hol7t 14 ¢ ufj, ABDF 9] Y o]& éloiat}.

A F D
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B C
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> Het: 15

B )

AAED ¢} AACD oA @¥e] Zo]o] H|7LED: CD =2: 5
o|E= Yol H]E 2:5 |},

" AACD:gx14:35

OABCD £ H3A H o] 2 AABD = AACD
ABDF ¢} AABD oA @wio] Zo]o] H|7FFD : AD =3 : 7
o] Yoo H|L 3.7 ot}

wt2bA ABDF = %AABD = % x 35 = 15 ©|t},




10. & 139 AABC oA AD : DB = 3 :
4, BE: EC =4:3, CF:FA =4:309]
th. FP =5cm, PC = 8cm ¥ ©], DP 9} PE
o] Zol] o] 2} FLotofet,

os}
=
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DF //BC, DE//AC °o]|2&
oDECF = H A o]t
DP = PC = 8cm

PE =FP =5cm
DP-PE=8-5=3(cm)




